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IN.B. : (1) All questions are c_ompulsory(. z ourS)-
(2) Internal choices have been given.

. (3) Figures to the right indicate full

[ Total Marks :75

marks.

[ e
1. (A) Fill_in the blanks(any three):- ' £* ; &
| (i)  Glycolysis in the anaerobjc conditions leads to production. \</</
: (a) Pyruvate (b) Lactate - (¢) Malate o
(i) HMP shunt occurs in the . Q_O
i (a) Cytosol o ‘(b) Mitochondria .(c) . Golgi complex@
—1! onsidered to play a catalytic role in citric acigEycle.
_ (a) ‘Succinic acid (b) a-Ketoglutarate (c) Oxaloace@l
(iv) ' Glucaneogencs_is is regulated by : \g
(a) Glucagon (b) Lactate ‘(¢) Bot (@gnd b’

(v)  Glycogen phosphorylase is a key enzyme in \g

‘ (a) Gluconeogenesis(b) Glycogenesis. (c) ycogenolysis

(vi) - Pyruvate is converted to acetyl CoA by C—i" : |

(a) Ogxidative (b) Reductive . QX; Both 'a' and 'b’
_ ; decarboxylation - decarboxylatign
(B) Define and explain(any one):- \{3\ 2
(i) Gluconeogenesis ,8—
(i) Glycogenesis &, . .
(C) Write short notes on (any one):- Y%}’ | 4
(i) - Glyoxylate pathway ° ‘ N | '

(i) Oxidation of pyruvate to\zﬁ‘etyl CoA -
(D) Elaborate on (any one):- -~ O _ 6
() TCA with reactions -
(ii) HMP shunt with reactions
2. (A) Fill in the blanks(any<hree):- ‘ ' A 3
(i) The NADIRshuttle used by skeletal muscles and brain is
(a) Mai¥te-Aspartate shuttle
(b) Sjycerol phosphate shuttle
(PNBoth 'a’ and b
(i1) \\\{'3 explains the dependence of electron transfer on.A'l;P
.- Synithesis in mitochondria. ‘
C_\DZ%— (a) Proton-motive force
/i(, (b) Rotational_catalysis
\Y"_ (c) Chemipsmotic theory
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A(lll) ‘Q cycle results jn the passage of electrons thrOUgh—-'—'/Jn B
(a) Complex IV -

(b) Complex IT]
() Complex v

i ) e
(v) 2 (;n é‘;lghur proteins are characteristic of the__._.———————" b E
(o) EMP . . RY
: (c) Both 'a' and 'b' : _ O\/
™ ,( ) inhibits cytochrome oxidase. : Q—O
a) Cyanide S
(b) Rotenone ‘ | " \Z\Y”‘S' !
(c) Amytal ' ol
(Vi : ophy
(vi) Photosystem II contains 2 reaction centre ;%LO P |
called_ . é\ " |
(a) P700 | $\7~
(b) P680 | el ‘ '!
- (c) P600 . . X P
(B) Define and explain(any one):- | - \?‘? |
(1) Free energy . %\Z\ f
11 Photophosphory atlon J )
(i1) h ph horyl '\C—J
| . NY s 4
© (C) Discuss in deta1l(any one):- , Q,& " s '
(i) Malate-Aspartate shuttel N i
. (i) . Dark reaction and light react@ of photosynthesis | y
(D) Elaborate on (any one):- Q} ‘ :

(i) Z scheme of photosynthz?~
(ii) Struqture of ATP sy&_tﬁa

3. (A) Fillin the blanks(an ﬁ{}ee) £ o | X
. (D) Tnc stati phase in reverse phase partition chrqma.tOgraphy is

supported by a matrix.
(2) Nsh-polar compound
(bXFPolar compound :
- DY Water , ‘
(ii{A{DV =V 4+ XV,
: & (a) Rf
: /{Jsz\ (b) Kd'
) "ol (c) aWr |
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(iii) 52 GLC, a Statlonar}' phase of silicon grease is supported

(a) Celite | .
(b) . Sephadex : , &
(¢) Resin , : (QO
(iv)  In the detection of component, is useful if unsaturated Q,O
~compounds ate being 1nvest1gated N4
(a) Iodine vapour ‘ QO
(b) Ninhydrin , L
(c) H, SO, in ethanol E @
(v In TLC for charged 11p1ds solvents are used. \Z\
~(a) Polar : %
(b) - Non-polar | \g
(¢) Both 'a' and 'b' | @
(vi) IfKdis , moderately moving zones Q_?ﬁobtamed
- (a) Greater than 1 : e
(b) 1 : S
(¢) Less than 1 \2\?”
(B) Define and explain (any one):- _ : \c_;b
(i) Stationary phase Qé)\
(ii) Ionexchangers ' & :
~(C) Write short notes on (any one):- \<§/ ' 4
(i) Principle of HPLC Yib
(ii)  Application of gel ﬁltratxoai_étxromatography
(D) Elaborate on (any one):- \2\‘?" 6

(i) Adsorption chromjg)iéfaphy

(ii) Paper chromatogra

1. (A) File in the blanks(any tﬁ%ee) -
(i) The active oﬁn of vitamin D in bumans is
(a) ‘BrgogiRiferol '
(b) Che¥ecalciferol
(c) Behydrocholesterol
(ii) } avin consists of sugar alcohol attached to
‘&i’) Flavin
b) Chromane
Q‘ (¢) Pyridine
@cﬁ) - pI value of lysine is
\,Y“ (a) 5.97
‘g\ (b) 2.34
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. : ination. -
(v). o takes part as coenzyme 1n "cransal’nmatl
| (8) Pyridoxine

) FlaVin ' . : ) CJ

(¢) Biotin .

; i ; i llcd—f—f—‘—‘§_
Vi) Iy titration curve, the relatively flat zone observed is &a O

i . : . K1 and
Y The 1S0electric PH of glycine is calculated by arithmetic mean of p =
() pK. '
(c). PK, )
§

(2) Titration zone ‘ \23"
(b) Acceptor zone %'\ ,
(¢) Buffering zone ' . T
(B) Def.in_e and Explain the following(any one):- _ é\
(1) - Vitaming : | &Y‘
(i) FAD - Q_ 4
(C) Write short notes on (any one):- : S 43
()  Role of vitamin A'in visif)n : 5t
(i)  Coenzyme form of vitamin B1 Q\)ZX" K
(D) Discuss in detail(any one):- -l \
@ - Working of glass electrode and its apg){fgatlor.ls
(i)  Titration curve of asparate ’&Q . |
' s g ;
3. (A) Justify any one of the following:- NG : |

Y .
i itri i i hiboli i
(1)  Citric acid cycle is amphi -
(i) - Glycolysis in humans is hl@y significant. ' ‘ .
(B) Elaborate on (any one):- \2\‘?‘ : .
(i)  Uncouplers of ETC . _
(i)  Electron carriers in tosynthesis

i | | 3
in any one of the follgving:- ‘ |
- Ex?il)am Agplication of UEK exchange chromatography ,
. (i)  Principle of %?}nity cl}romatography | .
(D) Attempt any one o Y 'follow11.1g:- T |
(i) Physiolqgtal role of vitamin E : . -
(ii) Cale the pH of a mixture of 0.1M acetic acid and 0.2M so_dlum

. ace (pKa = 476) . A
(E) Write Tru@dr False(any three):- ' 3
' - (i) \\@yceraldehydeé-phophate is formed at the end of phase I of glycolysis.
- (i, Transketolases form part of gluconeogenesis. ey
' M Ubiquinone is also known as CoQ10. :
1v)  Affinity chromato graphy relies on differences in the physical properties
N of the molecules to be separation of buffers. S

,\\/ ~' (v) Henderson-Haselbalch equation is used for Preparation of buffers.

(0(-‘, (Vi) Riboflavin and Lactoflavin are different biomolecules.
N | | . | .
O . . \’_——-
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